TRHR2AEEETHFTESE
ER24FE4R818Hh5 ER25F3A31HET
BEFREFITEEABARBIE TSV IA—LEHLOVLEELOS

(Bf:[)
! B x
it E I‘IXE
1 ZWMEE
/-\'%'f(_'IOA 1,000MH) 10,000
E%EQE%E(G5AX3OOOH) 195,000
SEES= B 0 205,000
2 BHEHS
SHEHE 0
NI T47 Z AFHI 0 0
3 BHEHES
SHE RS 0
STHfEE 0 0
4 BERE )
Hhigh - BB ARRRE AR IR B RN 0
BAER YD —OR KRB EINE 140,000
BADOHY AHESEINE 0 140,000
5 O
ZHFIR 0
Rz 0 0
BEINIEET 345,000
BREEH
1 EXE
e
R T4 7 I E F 0
AGEET 0
(2) T DHRE
EE i 100,000
Eﬂf"l%ﬁ% 60,000
SEE 100,000
REXBE 50,000
BIEERE 9,000
HERE 30,000
TIFHE _ 1,000
%(D_ﬁi’,ﬁﬁg'l' 350,000
SXBE 350,000
2 EHE
W AKE
S 47 SHEE 0
AGEET 0
(2) %@‘lﬂ_’.’ﬁy‘ﬁ
i 30,000
EHFIJ%ZIKE 4,000
ruiﬁ 65,000
REZES 0
BIEERE 0
HERE 0
ZIFHER _ 1,000
T DMhEEET 100,000
EHEHERT 100,000
BEEER . 450,000
LEREIEREE -105,000




I FEENRE

BEEBRTEER 0
BrEMNMREET 0
NV &ENEHR
B\ EEREIEE 0
BRENERE ) 0
HEARRE IS REE 0
= 2 1F DR B 1R R R -105,000
BTEAFE R IE LR B EERE 177,791
REH#EE% L BREA EEBR 72,791
HEEHEDER
1 BEEGRETAE
HEEHDOERITI.NPOEASEHEE (NPOEARERER)ICKO>TLET,
2 EXAEZORKR
Hhizh- BIAAREERE (BARARIET—Y|BROBYERE e
RRIEEEE |MWREXE EE S e
I FXENE
1 ZRRE 0
2 ZTHEMS 0
3 ZWEBIREF 0
4 FFRINE 140,000 140,000
5 ZMhIRaE 0
BERINEEET 0 140,000 0 140,000
oI EXEH
(HAHE
RV T47FHEE A 0
ANEEE 0 0 0 0
(2) T DR E
Bk 100,000 100,000
R SAE 60,000 60,000
E=t; 90,000 10,000 100,000
REXRBE 50,000 50,000
BIEERE 9,000 9,000
HERE 30,000 30,000
ZIFER 1,000 1,000
TR ERT 50,000 230,000 70,000 350,000
HEXREBEHE 00,000 230,000 /0,000 300,000
SRS XIBRMEE =50,000 =90,000 —70,000 =710,000




